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SECTION A
ANSWER ALL QUESTIONS
Some numbers are listed below. |

43

045, 67, 31, - 4.66666..., -4,  2.37149063592...

‘Which of these numbers are

(a) Integers
(b) Irrational numbers

Work out the following
(a) 0.035x2.1

(b) 10-3(2-18)

(c) 6—-4+2

Musa and Nonhle and Owethu share E720intheratio2 :3: 4
Calculate the amount
(a) Musa received.

(b) Owethu received.

(a) List the first four square numbers
(b) Describe this set in full
{8 10, 12, 14, 16, 18}

(c) Express 90 as a product of its prime factors

Find 30% of each of the following
(a) 700kg

(b) E654.30

[2]
[2]

[2]
(2]
[2]

(2]

(2]

(2]

(2]
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Convert each of the following numbers correct to the given form.

(a) 0.125 to a common fraction in its simplest form.

(b) —g- as a decimal fraction
(c) 2 as a percentage
24 ’

(d) 35 ml of 7 litres as a fraction in its simplest form.

Write these numbers to one significant figure.
(a) 25.3

(b) 599

(c) 0.827

(d)9.8

25.3x599x0.827
9.8

(e) Hence estimate to one significant figure.

Some marks of students are given below
25 22 23 21 25 22 24 22 23

Find

(a) The mode
(b) The median
(c) The mean

[2]

(2]

(2]

(2]

[1]

[1]
[1]

[3]

[1]
[2]
[2]
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SECTION B
ANSWER ALL QUESTIONS

9 A trapezium is drawn below.

55cm

15em
Calculate the total area in
(a) e’ 3]
(b) m’ (3]
(c) The area of the rectangular piece in km? [4]

10.  Students in a class wrote a mathematics quiz. This information is shown in the frequency

table below.
Marks | Frequency

0 2

1 3

2 6

3 5

4 11

5 6

6 4

7 2

8 1

9 0
(a) How many students wrote the quiz? [2]
(b) What was the mode? [1]
(c) What was the median? [3]
(d) Calculate the mean | [3]

(e) If students who got 5 marks and above passed the quiz, how many students failed? [2]
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_
11 YouareGiven, #={1,2,3,4,56, 7, 8 9, 10},
A={2, 4, 6 8 10}

B={2, 3}

(a) List all the subsets of set B [4]
(b) Draw a Venn diagram showing %: A and B, [3]
(c) List the elements of

HANB [2]

(i) A' UB [2]
(d) Write down the following

() n(A") [2]

@ oA’ NB) [3]

12 (a) Factorise the following expressions
(1) 2ax+8a—10ab+18 [2]

(i) #*+ 6x—27 [2]

(b) Simplify the expressions

() 2422

3 4 [2]
3x-5, 2(5x-2)

3 3 3]

(c) Solve the equations

a-3 _

® 5

[2]

3a-5 a+3 _

(i1) 7

2 5 [4]

(iii) ¥ —5x+6=0 [3]



